Instrukcja montazu gmoli dla / Crash bars installation instruction for

Kawasaki KLE 500

ﬁsktad zestawu wchodzi:

1. Orurowanie prawe.

Orurowanie lewe.

Uchwyt prawy trojkatny.

Obejma M32 lewa.

tacznik rurowy ®22.

tacznik ptaski.

Szpilka silnikowa M10x300mm wraz z 2 podktadkami i
nakretkami.

8. 2 $ruby szesciokatne M10x25 mm wraz z podktadkami.
9. 2 sruby szesciokatne M8x25 mm wraz z nakretkami i
podktadkami.

NouhkwnN

D)

The set includes:

. Right piping.

. Left piping.

. The right triangle bracket.

. The left bracket M32.

. Pipe connector ©22.

. Flat connector.

. Engine bolt M10x300 mm with 2 washers and nuts.
. 2 hex bolts M10x25 mm with washers.

Qz hex bolts M8x25 mm with nuts and washers.

OO UL A WN B

&)

M=

www.heed.com.pl

4 D)

Orurowanie powinno by¢ zaktadane tylko przez osobe wykwalifikowang. Nalezy zwrdcié
szczegblng uwage na wigzki elektryczne, przewody hamulcowe oraz przewody gumowe
chtodzenia silnika tak, aby nie byty przycisniete lub nie tarty podczas eksploatacji o gmole z
powodu Zle przeprowadzonego montazu orurowania.

Catos¢ orurowania zatozy¢ swobodnie dopiero na koncu skreci¢ docelowo.

. Zdemontowa¢ prawa i lewa strone owiewek.

. Zamontowac z prawej strony uchwyt tréjkatny pod oryginalne $ruby (Rys. 1).

. Zamontowac z lewej strony obejme na rame motocykla (Rys. 2).

. Potgczyé obydwa uchwyty tgcznikiem rurowym z zestawu mocujgc go lekko srubami
M10x25 mm (Rys. 3), a nastepnie zatozy¢ prawg i lewa owiewke.

5. Zdemontowa¢ oryginalng przednig szpilke silnikowa i zastgpic jg dtuzszg szpilka z zestawu.

6. Zatozy¢ orurowanie:

- w dolnej czesci na zainstalowang w kroku 5 szpilke silnikowg (Rys. 4),

- w gérnej czesci na wczesniej zatozone sruby M10x25 mm (Rys. 5).

7. Zatozy¢ przed chtodnicg facznik ptaski tgczacy obydwa orurowania (Rys. 6).

8. Catos¢ orurowania skreci¢ docelowo.

A WN -

Piping should be installed only by a qualified person. @
Pay particular attention to the electric beams, brake hoses and rubber hoses for engine
cooling, so that they are not pinched or they doesn't chafe during operation due to wrong
installation of piping.

During installation it is recommended to set up piping freely.

1. Remove the right and left side of the fairings.

2. Install on the right side triangle bracket and screw it using original screws from the
motorcycle (Fig. 1).

3. Install on the left side bracket from the set to the motorcycle's frame (Fig. 2).

4. Connect brackets installed in steps 2 and 3 using pipe connector and M10x25mm bolts from
the set (Fig. 3) and then install the left and right fairings.

5. Replace the original engine bolt with the longer engine bolt from the set.

6. Install the piping:

- in bottom part on installed in step 5 engine bolt (Fig. 4),

- in upper part on previously installed M10x25 mm bolts (Fig. 5).

7. Connect both sides of the piping using flat connector from the set (Fig. 6).

QTighten all the piping. /




Instrukcja montazu gmoli dla / Crash bars installation instruction for

Kawasaki KLE 500

N IR : ...
M= cmn

www.heed.com. |

-

S Rys. I Fig. A D
/ » jpx’/;: (‘2

Y5/
2




